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3. Review of Theory

1. Note:

In equation (3.4.15), T
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ts denotes the ratio of the amplitudes of the electric fields determined using equation

(3.4.10).

In equation (3.4.16),  
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tp denotes the ratio of the amplitudes of the magnetic fields determined using equation

(3.4.12). Since typically it is important to determine the phase shift of the electric fields,

equation (3.4.17) should be written as:
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where ts and tp are the quantities determined using equation (3.4.10) and (3.4.12) respectively.

The ratio of the refractive indices of the first (n1 ) and the last phase (nf ) is used to convert the

tp expressed as the ratio of the magnetic field amplitudes to the tp expressed as the ratio of the

electric field amplitudes.
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2. Error:

Equation (3.4.33)
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should be written as
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3. Error:

Equation (3.4.36) E U zxk
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4. Error:
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5. Error:
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6. Error:
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should be written as
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7. Error:

Equation (3.5.13)
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8. Error:

Equation (5.3.8) n n P
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